FEHE —HOUFLDITIE (FM3FEA4A~FTTAFEIH)  RE TR LB b 5% 5% B EATNICETE
=1 AN BET T ATF v JHH 10.15 t BET T AT v 7 FHO LG Mk % RPFLE
= (HE < 300 FEAf % & /) — fiak) BT T AF v 7 O \
10.01 t 9.72 t A5 RPFI% >|n“i4’ Z—IRELE L CoEHl
RPF (g9 A F v 7, #< 9.72 t
T, RS T, MHES ) ol
g% X 2
9.72 t
W< 0.00 t A <3 D T it 5% f7f RPFL%
(%f?x%yﬁﬁ@&%m%&ﬁ— A< T R ONI#E < F° ORIt 5%
it 2%
0.00 t
j@%x—w—m%ﬂ
0.00 t
BT AF > 7 IR Be7 5 AF v VIR %ﬁ%ﬁﬂ&bf%ﬂ
(FERI AT 2 —)L) 2.82 t (BFEFEILATF 12— 2.88 t
(AITAF FE ALBR AR & 0.07 t) V) DORER: - BRI
X 2.88 t
&/<T 4@ < T O hE % %%ﬁ%—ﬁ—-#%%ﬁmﬁﬂ
938.22 t 938.22 t 938.22 t
ZANE 951.19 t LB AT AR 2 0.16 t FiHE . 950.82 t
SR AR 0.29 t




